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Mr. X wants to accumulate Rs. 50,00, 000 at the . Then how
much amount is required to be invested |every year if| interest is
compounded annually at 10% (Given that P(10,0.10) =1 YEYALD
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g S deposits an amount in bank which give{ 10% xompound interest,
)(é compounded annually for 5 years. What is effective rate of simple interest?
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will it take to triple itself?

End of 12 years

End of 14 years

End of 18 years
End of 16 years




Cost of a laptop is X1, 10, 000 and jts~alue depreciate 12% annually its life
is 6 years its scrap value’ ....... tlmes
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Q Simple_interest on a sum of money is amount to 359,000 in 3 years and
362,000 in 4 years at same rate of interest. What are the principal amount

and rate of interest?
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m If the compound interest earned a.a. in n years is to be earned a

simple interest rate for n years, the s =

V’:—-Y\v\{ 0’7 Laling [Dec2021]Sk
Sy
4 |
L= CL
; ;
n
& (1"':‘99"_1)('!}0/ S ( |90
n
S =1( RSN
O -uo - »&’%
n



Q A company needs 310,000 in_five years to replace as equipment. How
much (in X) must be igvested\now gt the interest rate of 8% p.a. is order to
provide for the equipment?
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invested a sum in a scheme at
ow much amount (in X) he

It needs to pay 5,00, 000 after 10 vear
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An amount is lent a
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amount was one fourt! of the principal amount. Then R is.......
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A sum of money is put at 20% compound interest frate p.a. At which year

the aggregated amount just exceeds the double of the original sum?
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The present value of (325,000 F) be recEived after 10 years at 6% per
annum compounded annually is %@. 0659-- é 33823) e

[Dec 2021]
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Raj made an investment of Rs. 15,000 in a scheme and at the time of
maturity the amount wasSKs. 25.000) If Compound Annual Growth Rate
R) for this investment is 8.88%. Calculate the approx1mate number of

years for whWe amount.
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Madhu takes a loan of Rs. 50,000 from XYZ Bank. The rate of interest is 10% U
@per annum. The first i ent will be paid at the end of year 5. Determine
the amount ( in Rs.) of equal instalments, if Madhu wishes to repay the

amount in five instalments?
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A
Ramesh invests Rs. 20,000 per year in a stock index fund, which earns 9%

g per year, for the next ten years. What would be the closest value of the
accumulated value of the investmént upon payment of the last instalment?
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@ An investment is earning compound interest, Rs. 100 invested in the year 2
accumulated to Rs. 105 by year 4. If Rs. 500 invested in the year 5, will

become Rs........ by year 10. U\ ¢
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An investor is saving to pay off an obligation of Rs. 15,250 which will be due
in seven years, if the investor is earning 7.5% simple interest rate per
annum, he must deposit Rs. to meet the obligation.
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m There is 60% increase in an amount in 6 years at simple interest. What will
be the compound interest of Rs. 12,000 after 3_years at the same rate?
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The present value of Rs. 2,000\, after 8 years at the rate of 6% per annum,
is___ .(1.06%=1.59385)
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The annual rate of simple interest is 12.5%. In how many years does the
principal double? ——
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@ A company creates a sinking fund of Rs. 2,00,000 in a bank account for 15

years bank offers interest rate 6% per annum, the yearly payment to be paid

company is approximately (1f need, use: 1.06* = 2 2609
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@ A machine worth Rs 4,90,740 is depreciated at 15% on its opening value

eSS,

each year. When its value would reduce to Rs. 2,00,750
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Rs 117.60

If Rs 64 Amount to Rs{ 83.20 /n 2 years, what will Rs 86 Amount to in 4
years at the same Rate percent per annum ?
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@ A farmer borrowed Rs. 3600 at the rate of 15% simple interest per
Annum. At the end of 4 years, he cleared this account by paymg Rs. 4000
and a cow. The cost of the cow is:
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How much amount is required to be invested every vear so as to
accumulate Rs. 5,00,000 at the ¢ Ifinterest is compounded
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The effective annual r ' est corresponding to a normal rate of 6%
per annum payaple half yearly is: .
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10 years ago the earning per share (EPS) of ABC Ltd. was Rs. 5 share Its
EPS for this year is Rs. 22. Compute at what rate, EPS of the company

emssm——————

annually ?
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Mr. A invested Rs. 10,000 every year for next 3 years at the interest rate of 8 —

percent per annum compounded annually. What is future value of the annuity?
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Mr. Prakash invested money in two schemes ‘A’ and ‘B’ offering compound
interest at the rate of 8% and 9% per annum respectively. It the total
amount of interest accrued through these two schemes together in two
years was Rs. 4818.30 and total amount invested was Rs. 27,000. What

was the amount invested in schemes A?
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A sum of money invested of compound interest double itself in four years.
In how many years it become 32 times of itself at the same rate of
compound interest
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The difference between compound interest and simple interest on an
amount of Rs. 15,000 for 2 years is Rs. 96. What is the rate of interest per

Annam ? 4 ( Q'Pl)' | 1—&3 ciDec 2022]
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Rs. 5,000 is invested every month and in an account paying interest @

12% per annum compounde . What is the future value of this
annuity just after making 11* payment” (Given that (1.01)!1=1.1156)
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@ A sum of money doubles itself in 4 years at certain compound interest
rate. In how many years this sum will become 8 times at the same
compound interest rate _—
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Sinking fund factor is the reciprocal of :
|[Dec 2022]

Present value interest factor of a single cash flow

Present value interest factor of an annuity

Future value interest factor of an annuity

Future value interest factor of a single cash flow.
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m The Nominal rate of interest is 10% per annum. The interest is
compounded quarterly. The effective rate of interest per annum will be
¢ =™ [June 2023}
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m A car is available for 34,98,200 cash payment or 360,000 cash down
payment followed by three equal annual instalments. If the rate of interest
charged is 14% per annum compounded yez hen total interest charged

in the instalment plan is (Givéa P(3,0.14) = 2.32163)
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The compound interest on 315,625 for 9 months at 16% per annum
G compounded quarterly is o =Y
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m If the discount rate is 10% p.a. how much would you pay to receive
X2500 growing at 8% annually forever?
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Mr. Sharad got his retirement benefits amounting to 350, 00, 000. He wants

Q.38
to receive a fixed monthly sum of amount for his rest of life, starting after
w
one month and thereafter he wants to pass on the same to future

\
generation. He expects to earn an interest of 9% compounded annually.

—————————————
Determine how much perpetuity amount he
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Jonny wants to have X2, 00,000 in his saving account after three years. The

rate of interest offered by bank is 8% per annum _co_m_wge\d}annually.
How much should he invest today to achieve his target amount:
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AT
g Suppose you have decided to make a Systematiﬁ;nvestment Plan (SIP) in a
mutual fund with X1, 00,000 every year from t ears at the
rate of 10% per annum compounded annually. What is the future value of
this annuity? Given 1.11% = 2.59374(=\ [2-lo_ -o.)| w=loxl=lD
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m Mr. Ram invested a total of X1,00,000 in two different banks for a fixed
period. The first bank yields an interest of 9% per annum and the second at

11% per annum. If the total interest at the emm_y_%;:vﬂ’/o per
annum, then the amount invested in these banks are respecti ‘
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m A company wants to replace its existing machine at the end of 10 years. The

expected cost of machine would be 310,00, 000. If the management creates
a sinking fund, how much provision needs to be made at the end of each year

which can earn at the interest rate of 10% compounded annually. N

Given A(10,0.1) = 15.937425 ~— AR
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<t e
m A machine depreciates at 10Y% of its value at tie beginning of a year The

cost and scrap value realized at the time of sale bein_gﬂ}_ZAO and 39,000
respectively. For how many years the machine was put to use?
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m The difference between C.| and S.l on a certain sum of money invested
for 3 years at 6Y% pais 110.16. The principle is
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(L
m The population of a town increases every year by 2% of the population
at the§ be-g-inning of that year.)The number of years by which the total

increase of population be 40% is
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m Govinda's mother ' ift him 50,000 every year starting from
today for the nex{ five years,_#e deposits this amount in a bank as and
when you receive and get 10% per annum interest rate compounded

annually. What is the present value of this annuity?
Given P(4,0.10) = 3.16987 <G
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m Mrs. Paul invested X1, 00, 000 in a mutual fund scheme. She got a dividend
of 10, 000 for first year, X 12,000 for second year, X 16,000 for third year, X
Annual Growt te (CAGR) on dividend return?
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